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For observing the behaviour of his students, the teacher
himself involved as a player in a game played by the students,
this type of observation is

l. Participatory observation

2 General observation

3. Non-participatory observation
4

Macro observation
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One of the following statements is true

1. Development is a short term process

2. There are no individual differences in development

3. Development is not uniform in all the developmental
stages

4. Development is not predictable
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The third stage in the order of language development is
1. Bobbling stage

2 Prelingual stage

3. Language comprehension stage

4

Sound imitation stage
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One of the following techniques is not mentioned by Sigmund
Freud for dwelling out the repressed unconscious feelings

1. Free association
2 Gestaultism

3. Dream analysis
4 Hypnosis

2QGFR  QAURYS PR  VIGRIYF] IR
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4. Q6RILQ

The study that supports the influence of Heredity on
development of an individual

l. Pearson — Darwin’s family
2 Freeman — Miltred Rooth
3. Skodak — Foster children
4 Gordon — Gipsy children
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The following is a play that is said to be the first social
activity of a child with his friends

1. Solitary play

2 Parallel play

3. Co-operative play
4 Arrogant play

daciee e ARIFIeE A8 @2el gaa AAIG
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According to instincts and its corresponding emotions the
following is a right pair

1. Parental urge - anger

2 Curiosity - fear

3. Laughter — spirit/activeness
4 structure - abhorrence
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Lack of concept of Irreversibility is related to this stage of
Piaget’s Cognitive development

1. Sensory motor stage

2 Pre-operational stage

3. Concrete operational stage
4 Formal operational stage
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The present performance of an individual that shows the
future achievement is

l. Interest
2 Aptitude
3. Attitude
4

Performance
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10.

11.

The stage of ‘obedience for avoiding punishment’ is in this
level of Kohlberg’s moral development

1. Pre-moral or Pre-conventional

2 Conventional moral level

3. Self accepted moral or Late conventional level
4 Natural moral level
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Irrespective of his intention to participate in the essay
competition the child doesn’t participate in it because of his

fear of poor performance and not being able to get a reward.
The defense mechanism related to this is

1. Regression
2. Identification
3. Projection

4, Withdrawal
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12.

13.

Prameela got seat in a Govt. residential college. She likes to
join in the college but she does not like to reside in the hostel.
The conflict is

1.
2.
3
4,

Approach - Approach
Approach - Avoidance
Avoidance - Avoidance

Double approach - Avoidance
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One of the following is a secondary need

1.

2
3.
4

Food
Recognition
Sleep

Water

QFIQ 696l QARG

1

2
3.
4
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14.

15.

Law of readiness, law of exercise, law of effect are the
outcomes of the following learning theory

1. Insight theory of learning

2 Trial and error theory of learning
3. Classical conditioning theory
4

Operant conditioning theory

gge Qa¢l, AIA FACT, AGEIN FANYEGR G671
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The type of reinforcement related to acquiring own standards
without expecting anything from others

1. Direct Reinforcement

2 Indirect Reinforcement
3. Self Reinforcement
4

Negative Reinforcement
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17.

In this type of memory the content is in memory for a long

time

1. Rote memory

2 Short term memory
3. Passive memory

4 Active memory

Rl 966a Q990 e AL F16QaYQl ARQ
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Even though we haven’t seen the situation we are seeing now,
we feel it as we have seen that before , this feeling is,

l. Zeigarnik effect
2. Hallo effect

3. Deja vu

4. Gestalt effect
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19.

One of the following enhances memory

l.

Cal o

Repression
Disuse
Interference

Motivation

AAQ 969 QQIN
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2
3.
4

Janela
2Qa6LIol
JEIRRT|
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In terms of transfer of learning ‘the effect of mother tongue in
learning correct pronunciation of a foreign language’ can be

termed as,

1.
2.
3.
4.

Positive transfer
Negative transfer
Bilateral transfer

Zero transfer

656Q9@ QISIQ A0K ARIAE SgAC ARV
daieq Jgé A9180d QAQ 19Q QRIKIRAIER |
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The gradual disappearance of conditioned response of
Salivation to bell in classical conditioning is

1. Reinforcement

2 Spontaneous Recovery
3. Generalization

4 Extinction
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One of the following is a reason for mental ill-health
in students

1. Pleasant school atmosphere
2. Over burdened learning programs
3. Flexible examination system

4. Healthy habits of students
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23.

According to Bandura the first item in the process of
social learning is

1. Retention
2. Reproduction
3. Attention

4, Reinforcement

QAT QAR AINIFR TV gRAURQ AT FAT
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The following is not related to Bruner’s Theory of Instruction

l. Readiness

2 Analysis

3. Content construction
4 Serial order
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25.

There are 151 students in a primary school. As per RTE
Act -2009 , the number of teachers to be placed in the school

l. 5 primary teachers + one science teacher
2 4 primary teachers + one language teacher
3. 4 primary teachers + one head teacher

4 5 primary teachers + one head teacher

e gedie Goueasa 151 @4 dgidt 288 | d9l
2RIFIQ AIRR-2009 AQQIL 6AT FIRLER 2GR
SR QoI

1. 598 gide 499 + 968 GRIQ IR

2. 494 gIfe 499 + 264 QIS 9@

3. 498 9I27e 999 + @68 PRI IR

4. 5948 glIFe 99 + 968 QI IR

As per NCF-2005, the general aspect which is a physical
inconvenience to children

1. Caring school staff

2 Proximity in availability of school
3. Well equipped Toilets
4

Over burdened school bags

NCF-2005 2QQIgl dnig 6@oe Qe Al @Q2al
ARIQE TS,
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26.

27.

In this leadership style, the leader is nominal and the
members enjoy complete freedom and take final decisions by

themselves.

1. Democratic
2. Autocratic
3. Laissez faire

4,

Mixed
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The type of counselling process proposed by Carl Rogers is

1.

2
3.
4

Directive counselling
Non-directive counselling
Eclectic counselling

Dominant counselling

QIR 6QAFLS I 9GRS RUCREIR ARG

1

2
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29.

Among the following ‘Educable mentally retarded’ are

l.

Cal o

Profound mentally retarded
Severe mentally retarded
Moderate mentally retarded

Mild mentally retarded

A ‘91 SGAIQAR! AR QRJLT G
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4
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Intellectual resource among the following

l.

2
3.
4

Scientists
Water falls
Farm fields

7,00
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2.
3.
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30.

In the formative assessment, weightage to be given for
slip-test is

FORIAL LRRER Jd 6649 GAITR VIR

1. 10 marks
2 20 marks
3. 25 marks
4

15 marks
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4. 1ol + 2ele

Q66 QIREQ 69 TP NRLIQ FAUAN Q'Y 4Ll

QRIAN -
L a9ye
2. QSIS
3. Q6894
4. @

Q¢ 296RQ5q 9¢ 51 8 52 949 Q@ 096 @ |

dee doYq 6RIREMIcnq 89l 68e8 qF
ATAIRTR @A | 62C6R AQ AIHOY A6 FQQ
6ERQIE | g2l — QY , 6971 , 6491 , @@ B ¢l | T
dig 0Q F1IEA OF LA RIQ QUe 0QYy AR
6ERUIRAIE | 6QE ALIARIE! , ALQIAINE RIQ
ARRS QAR 62Q8S AUGE |

AIER ARG UIBGR AT6Q FQQ 69T |
1. Qeeclea

2. GRACIER
3. eI
4. EIqlea



52.

53.

54.

AB0Q JIIF QAR ALIFINIFIF ARIQ AGF QS -
1.

2.
3.

4.

Q¢ JQUIPE0Q 9@ 53 B 54 d9Q Q@A 526 @Q |

RIYee
QAR
QIR
SIS

AgRIQ Q64 691 AR
FIRER GG AR TR |
QI G681 6969 62@ QT
Qg QQRIEQ NLQ HIQ |

FRA6Q ILIY ARe KARIQ QLUAIRE -

1.
2.
3.

4.

@eqll
699
6gl1
ERIQ

G geI6a QIG 62919 QRIFIRE -

1.

2.

3.

QR
3
N/
Sl



55.

56.

57.

2@ QIS FlIIFI6Q IRNIQ T8I 8 @aR! I2Q UGS

LI -

1.
2.
3.

4.

QY YA FIEAT QIR QYS! FIQ IR MRS -
1.

2.
3.

4.

J918l1 AR6a a0l g8 2Ige 8gIeel Y@ QIR

Q61 QS
AloQUSI
ZIERR QI
Jalafe Quall

Jemga
Q2! AR
SQITe
§Q6]

QEWdY -

1.

2.

3.

QAR
geUa
QAGE
RIILS



58.

59.

60.

@64 Q1el1 S 68411 QIO 68 69Rq QIR dIf 2RI
IR 1SR QNS -

1L Q59 6941
2. 99 644l
3. 99694

4. QI 694N

QY QAR AAAER JIRER JGI9RT NG 6QIARER
6212 -

1. gesia
2. QOKI9R
3. QUge

4. GRRIGIQ

616 gATQ 2RISR 6HFER 69Q INIIAR 9
QI21q 12l QLI -
1L AR gL

2. Q0% {Re dniee
3. @e Jauge
4. QUAIDe gRuee



61.

62.

The snow covered up the grass with her great white cloak.

Choose the meaning of the word “cloak”™ .

l. a short wide pipe.

2 a small brown and grey bird.
3. a strong wind.
4

a type of coat that has no sleeves.

Usha’s meticulous systematic training began in earnest.

Choose the synonym of the word, ‘earnest’.

l. calm
2 serious
3. untidy
4 thin



63.

64.

65.

Oliver was frightened at the sight of so many gentlemen,
which made him tremble.

Choose the antonym of the word, ‘many’.

l. several
2. few

3. any

4. a few

Choose the word with wrong spelling.

—

aboriginol
2 spectacle
3. miniature
4

inhabitants

Ramesh set up a new business.

Choose the meaning of the phrasal verb ‘set up’ in the
context.

1. bought
2 offered
3. started
4 showed



66.

67.

68.

Choose the suffix that suits the word “quick” to form an

adverb.

If you are thirsty, you can drink buttermilk.

Cal o

ly
lly
ness

€r

This 1s;

l.

2
3.
4

Choose the grammatically correct

a simple sentence
a compound sentence
a complex sentence

an interrogative sentence

following.

1. One should do his duty.
2. One should do one’s duty.
3. One should do her duty.
4. One should do their duty.

sentence from the



69.

70.

71.

How canyou .......... that ?

Choose the correct form of the verb that fits the blank.

l. say

2 said

3. says

4 have said

They never expected to have any more.

Choose the part of speech of the word, ‘never’.

1. a pronoun

2. a conjunction
3. an adverb

4. an adjective

He hopes that he will win the first prize.

This sentence has;

1. a noun clause

2. a conditional clause

3. a defining relative clause

4. a non-defining relative clause



72.

73.

74.

The patient had died before the doctor ............. .

Choose the correct form of the verb that fits the blank.

1. arriving

2. arrived

3. was arriving

4. had arrived

Manjula and Sruthi play ............ guitar well.

Choose the correct article that fits the blank.

1. a

2 an

3. the

4 No article is needed.

The teacher explained the problem .......... the students.

Choose the correct preposition that fits the blank.

Sl A

with
to
by
up



75.

76.

77.

Lara is not so great as Tendulkar.

Choose the comparative degree of this sentence.

1. Tendulkar is as great as Lara.
2. Tendulkar is greater than Lara.
3. Lara is greater than Tendulkar.
4. Lara is as great as Tendulkar.

You must take care of your parents.

This sentence indicates;

1. obligation
2 suggestion
3. command
4 request

Come out now, Cousin.

Choose the correct question tag of this sentence.

1. do you ?
2. don’t you ?
3. are you ?
4. won’t you ?



78.

79.

80.

“I’ll catch you in a minute”, replied Seema.

Choose the correct reported speech of the sentence.

l. Seema said to that she will catch you in a minute.

2. Seema says that she would catch him in a minute.

3. Seema replied that she would catch him in a minute.
4. Seema told that she will catch you in a minute.

I built a high wall all around.
Choose the correct passive voice of the sentence.
l. A high wall is built by me all around.

A high wall was built all around by me.

[ was built a high wall all around.

Sl A

All around a high wall has been built by me.

Choose the correctly punctuated sentence.

1. “I’m sorry,” the chemist said.
2 “I’m sorry the chemist said”
3. I’m sorry, “the chemist said.”
4 “I’m sorry” the chemist said.



The following is NOT the part of a letter to apply for a job.

1. The details of father.
Educational Qualifications.

Age and date of birth.

Cal o

Contact details.

Choose the list of words in the correct alphabetical order.

l. property, properly, proper, properate
2. proper, properate,  property, properly
3. proper, properate,  properly, property
4. properate,  properly, property, proper

Read the passage and choose the correct answer to the
question given after.

Horses have close to 360 degree all-round vision. The only
place they cannot see is directly behind or right in front of
them, which is why it’s dangerous to stand behind a horse.
The horse riders cover their horse’s eyes with blinkers.

The horse riders cover their horse’s eyes with blinkers so that
the horses.

l. can see what is behind.

2 can move faster.

3. can carry heavy loads.

4 can focus only to the road ahead.



&4.

85.

86.

Read the passage and choose the correct answer to the
question given after.

A library inspires the students to develop the habit of reading
books. The reading room provides an atmosphere where
every man wants to read the books.

We can develop our reading habit;

1. by visiting a library frequently.

2 by watching TV serials.

3. by visiting our friends’ houses.

4

by meeting people in various places.

Formative evaluation is:

1. a process of conducting test on the whole syllabus.
2. a process of ultimate feedback on performance.

3. a process of ongoing feedback on performance.

4. a process of assessing all-round development.

While searching for a particular train in the Railway
timetable, we use the following reading technique.

l. Extensive reading
2 Skimming
3. Scanning
4

Intensive reading



87.

88.

89.

The following is not suggested to be prescribed in the
supplementary reader as syllabus.

l. Stories

2. Incidents

3. Descriptions
4. Poems

The following focuses on natural way of learning a second
language like that of the acquisition of the first language.

1. Direct method

2. Translation method
3. S.0.S. method
4. Bilingual method

The form of reliability that is used to judge the consistency of
results across items on the same test 1s;

l. Test — Retest Reliability

2. Inter-rater Reliability

3. Split Item Reliability

4. Parallel — Forms Reliability



90.

Middle English was the result of the:

1. Norman Invasion

2. Saxon Invasion

3. Anglo-Saxon Invasion
4. West Saxon Invasion



91.

92.

93.

1 billion is equal to

1 SR2IQ AL AR

l. 10 millions
2. 100 millions
3. 1000 lakhs
4. 10000 lakhs

The sum of first three common multiples of 3, 4 and 9 is

3,4 39 Qg F6QIT ARIAE JEIeR 671G

l. 108
2 144
3. 216
4 252

Convert 2 : 3 into percentage

2 : 3 @ JORQI6Q JREIC @Em

200 o,
3

200,

Yo
300

2
300

100 o,
3

%




94.

95.

96.

The following fraction is equivalent to g

g 4L AR @ell°gl

Lo
3
S
25
.2
15
. B
15

The next number in the pattern —62, —37, —12, ..... 1s

~62, —37, —12 ... AR QL@ A°H|

l. 25
2. 13
3. 0
4. —-13

The cost of 20 tons of iron is I 6,00,000 then the cost of
560 kg of iron is (in rupees)
20 9@ QLA Q¢ I 6,00,000 62EM 560 @.9. LI

QIEI(SFIER)
1. 1680000
2. 168000
3. 16800
4. 33600



97.

98.

A lorry requires 54 liters of diesel to travel a distance of
297 km then the diesel required to travel a distance of 550 km is
(in liters)

691G\ 6] 297 @.81. QIG AR 54700 IR AR

626M, 550 @.8. QoG QIPRARIIR QIR SR

N

(RSR6ER)

1. 100
2. 50

3. 2516
4. 25

The interest on ¥ 12000 for one month at the rate of 10% per

annum is (in Rupees)
Qde L LIR10% @AR6Q T 12,0009 4@ €A 2L
(P16Q)

1. 12100
2 1200
3. 600
4 100



99. A triangle shaped instrument in the geometry box is called

l. Protractor
2 Compass
3. Divider
4

Set square

RUIAG Qg6Q 2Rl GRIINIA AAKAEIT

1. 6QA8AFRT
2. QRERYQT

3. QuIEa1

4. 649 62U

100. The angle between two parallel lines is

Q@@ deIBQ 6N F1UL 6@l6l

l. 0°

2 90°
3. 180°
4 270°

101. The three angles of a quadrilateral are 55°, 65° and 105°
respectively then the fourth angle is

6915 9LVFTA B6RIT 6RI4 PSS! 55°, 65° G 105°
626 992 6T

1. 85°

2 105°
3. 115°
4 135°



102. If an angle is 4 times of its supplement then the measure of

that angle is

691G 618l QLR JAJAR 66 4 G4l 6T6M 64T

6Q181Q QLS
1. 36°

2 72°

3. 108°

4 144°

103. The 3D shaped figure which does not have a vertex

l. Cone
2 Sphere
3. Pyramid
4

Prism

A9 FIQ A1 KR BTGIN AR

1. g
2. 69lae
3. JdudiQ

4.  gesl



104.

105.

106.

-2 -9 2x+1
If (ij X (3 = [i then the value of X i1s
13 13 13

-2 -9 2x+1
(ij x(ij = (ij eYem ‘X* Q ¢ImyY
13 13 13 «

1. -6
2
3. 5
4

The order of the polynomial 4x° —gx4 +3X+2 is

4x° —gx“ +3x+2 Q@2IQQ ARl

L2
2. 3
3 4
4. 2

Twice of a number reduced by 10 equals to 32 then the

number is

60N QHQ QRGEIQ 10 62T PEM FIL 32 AR AR,
6069 69T AT

1. 32
2 21
3. 11
4 10



107.

108.

109.

Area of a rectangle and the area of a circle are equal. If the
dimensions of the rectangle are 14cm x 11cm then the radius

of the circle is (in cms)
6RlIGN 2IPEEL B QR 6AGTR JE@ AR | ALV
QD 14 6280 x 11 6241, 626R A MIAIF(62.51.69)

1. 21
2. 14
3. 10.5
4. 7

The cost of fencing a square park of side 250 m. at the rate of
< 20 per meter is (in Rupees)

250 GicQ Qg Y} 600N FARQ ARA FIRAEE QY
629101 ficq gl T 20 FAER 624! ¢IP (SIER)

1. 5000

2. 10,000
3. 20,000
4. 50,000

1 kilo liter in milliliters

1 RERAIREAQ AL AR FRRCA

l. 10,00,000
2 1,00,000
3. 10,000

4 1,000



110.

111.

Neeraja studies from 7.00 PM to 8.15 PM then the time

allotted for her studies is (in minutes)

@101 7.00 PM Q 815 PM a2 9G6R, 64 9GRIQIR

QE6UIS @RIl ANY (FFQ6R)

l.

2
3.
4

45
60
75
115

The marks obtained by 15 students in a test respectively are

8,1,52,6,5,5,0,1,9,7,8,0,3,5. The number of students

who got 5 or more than 5 marks are

15 94 Q181 6015~ ANVI6Q ARSI IR NPT 8, 1,

52,6,5,5,0,1,9,7,8,0,3,5 60695 @¢ CIoIQ 2ya

QIR ARSI SQIEN Lol

l.

2
3.
4

9
8
7
5



112.

113.

114.

The tally mark that represents ‘9’ is

9" @ 9OIRYRI GRAIERS|

Lo N
2. I

3. NI
4. N ™

Length of the class of the class intervals 125-150, 150-175,
175-200, .....1is

125-150, 150-175, 175-200, ... 69619G@Q 694128

1. 150
2 175
3. 25

4 -25

If Tushar ate 3 parts out of 5 parts of a cake then the
remaining part in fraction form is

QaIQ 60T 6QQQ 5 IR 3 QG HAAAER, ATY
2°IQ @ell°sl Qd

L2
5
2 2
5
3. 2
3
4o 2
2



115. “Mathematics is the science of quantity” defined by

1. August Comte

2. Benjamin Pierce
3. Aristotle
4. Eudoxus

“GIEIG 4@ AAANSINR GRIF” 6QIM A°RI 6QR6M |

1. 29Y Q6%

2. 6QgIfie deeg
3. 2IRNGR

4. 969199

116. The Educational Value that was not shown in “Young’s

Classification”

1. Utilitarian value

2. Other functions of mathematics

3. Mathematics as a mode of thought

4. Disciplinary value

“9eI & QN1RR"6Q 2dIaneel 683 gay

L. QIR amy

ATER AR QITHQRT
Q@ GBRIAI Q6T GI&I
RGNS IRy

Cal A



117.

118.

One of the characteristic feature of “Deductive Method”

l.

2
3.
4

Example to Principle
General to Specific
Unknown to known

Concrete to Abstract

“2IQ6RIRS IRG'Q 60T AYS)

l.

el

RILQE Q I3
AIQE Q Fa
]IG Q ARG

e Q 29

This aid is used in teaching of “Geometrical Concepts”

l.

Cal e

Grid paper
Bulletin board

Geo board
Notice board

‘FUITSIS AQG'Q FVIRIR AR NLIYE AARAST

92 699
QERGR 631
F6A6RNG
69159 691¢



119. One of the following does not belong to the “principles of

curriculum construction” is

1. Principle of utility
Principle of correlation

2
3. Principle of child centeredness
4

Spiral approach
a9 ClRIQ Ll “dIOYRe] LR FACIQRT" AL YD a6§

1. QUQLIRR AR
2. QAIAWR LIS
3. Jg6R5e GAQIenT
4. Qde 98G

120. The Academic Standard to be tested through the following
test item
“Show 3 x 4 =12 on the number line”

l. Reasoning - Proof

2 Communication

3. Connection

4 Representation - Visualization

“3 x 4=12 Q LHIICAS RACA oI LI FIQl AL
QAR SIS

1. Q8 REQ — gAIS @A
2. QYBRE
3. Q69

4. QQKLIKQ - QIR



121.

122.

The fibre that gives pungent smell on burning
1. Silk

2 Cotton
3. Wool
4 Nylon

g 0909 927 ANEIEH 0B AN F9G 99
1. 6Q8¢

2. @IdiQ

3. dol¢l

4. oM

The nearest atmospheric layer to the earths surface is
1. Stratosphere

2. Thermosphere

3. Troposphere

4. [onosphere

oR1YIR UG FRTRF QIYFIARIN AQT

L. YRR

2. 626AIReQ
3. 69169139
4. YERIAAQ



123.

124.

The thermometric substance in Galileo’s thermometer is

1. Mercury
2. Alcohol
3. Bromine
4. Air

JINRGE SIUIRYR6R RAUY FI9E AQIET

1L 9
2. 2ANRER
3. 69199
4. QIg

The bulb that consumes more electricity among the bulbs
with wattages 25W, 40W, 60W and 100W is

25W, 40W, 60W \Q° 100W GI60R GI% @negee A1
6RR6 AGRIR FQIQ 98 RIS KRN

100 W
25W

1
2
3. 60 W
4 40 W



125.

126.

The self adjusting force is

1. Static friction

2 Sliding friction

3. Rolling friction

4 Fluid friction

IY° AF6LTE QRS

1. 6369 g

2. ¢ A8

3. Q98 QgE

4. 9QIgl Qgd

The chemical nature of metallic oxide is
1. Acidic

2. Basic

3. Amphoteric

4. Neutral

JIPQ INLINER I QAUALGR dulQ
1. 2l

2. QRN

3. QRO

4. AN



127. 1In afood chain decomposers are also called as

1. Producers

2 Primary consumers

3. Secondary consumers
4 Recyclers

@ S YHR6Q ATACRYFY 9B 1l QRIAN
1. QQQee

2. gefie e
3. OlR 999
4, JMOQR

128. “Micro organisms could be killed by boiling”. This was
proved by

l. Lazzaro Spallanzani
2. Ronald Ross
3. Edward Jenner

4. Jonas Salk

‘I¢1 @GRl FIQI AGR1RYEQ A/ @QGY” 6QIm A
FIQl gl @GRl 6TRIGR

1L QLA ARG
2. 6RRING QQ

3. QElg 6999

4. 6R191Q AR



130.

129. The joints between the skull bones are

1. Hinge joints

2. Pivotal joints

3. Fixed joints

4. Ball and socket joints

SIgQ &g q1U6Q g Sl

1L Q99 @il
2. Qe @l
3.  dq el

4. 9RQeR Sl

Earthworm breathes through its
1. Lungs like sacs
Whole body surface

2
3. Trachea
4

Net work of respiratory tubes

@2l 92l IRl 9IQFA K6

1. g9 oF ae

2. QAg 991Q 9

3. 919001

4. 919091Y3 M AQE FOR



131.

132.

For free medical and health suggestions Government
provided a phone number. It is

QI8 S@A 9e° Yy ARILE! VAR AR
6QIIRQl 6IQ @°

1. 108
2 104
3. 1098
4 100

Choose the correct pair

l. Mary Kom - Boxing

2 Methali Raj - Badminton
3. Saina Nehwal - Cricket

4 Koneru Humpy - Kabaddi

A0R 69155 526 @Q

1L 699190 — Q@°

2. QIR QR - UIQALR
3. A9l 62LIN — F69F
4. 6R169Q AH - @QIG



133.  The weapon used by Eskimos to hunt Seals is

l. Stones

2 Dogger
3. Harpoon
4 Gun

@eaflee I g9y dRIe KG9 AR LA

R 262U
1. a9
2. QIOQ
3. d]
4. Q9

134. The person responsible for Jallianwala Bagh massacre
l. General Dyer
2 Lord Rippon
3. Lord Curzon
4 Lord Litton

FRAIQ GRNIQG NINIG AT FHC D

1. 669N AU
2. @9 Q9Q
3. Q9 Qe
1. Q0 @9



135. River Nile joins in this sea
1. Aral Sea
2 Caspian Sea
3. Mediterranean Sea
4 Black Sea

R 291 Y8 AITNAER FI6S!

1L 2R AR
2. QTR AR
3. QI QG
4. Q899

136. Paper industries are using this as a substitute to Bamboo
l. Neem
2 Subabul
3. Jatropa
4

Pine

FOR FFFPR IR UG6R YLl MLTIQ KR

1. el
2. gRIgR
3. Qlegal

PR ([~



137. The popular king in Gupta’s dynasty

1. Chandragupta Vikramaditya

2. Ashoka
3. Bindusara
4. Ajatha Sathru

‘QY" @9 USRI QU

1. 9999 QAIGaY

2.  YedIQ
3. QQAiQ
4.  URIGSQ

138. Generally the direction shown at the top of a map

l. North
2 South
3. East
4 West

ARIQEIGS AINPER RUQ VGG LIRSl GG

1 QA
2 Q&
3. 99



139.

140.

The brave man who revolted against Moghals and established
Maratha Kingdom

1. Shivaji

2 Sambhayji

3. Shahaji Bhosle

4 Samardha Ramadasu

6RIGRAIRE IOl @7, F102s! AlFIY AIJe @GSl
QIR QY&

1. Q91

2. 21N

3. 1916169
4. A0 QUORIG

The largest plateau in India

l. Tibet Plateau

2 Deccan Plateau

3. Malwa Plateau

4 Chota Nagapur Plateau

QARG ATLQ FIRQE

1. OR0 Aead
2. 6QRIQ AINRd

3. QIR AR
4. 62161 Qg AIRRE



141.

142.

Different forms of condensed water vapour falling on the
earth is known as

1. Condensation

2 Precipitation

3. Evaporation

4 Humidity

Qe QUeQ QIR QI ARPRId QF QU6Q 6T
62Ql geAlq 96 @RI |

1. ALNINNE

2. 2QdIoa

3. QANRE

4. 2190l

The trees that grow only in very cold climates and have
snowfall

l. Teak

2 Mahagani

3. Eboni

4 Coniferous

AGRIR A, QAT TQYYQ AEREQ LYY 9B
1. SRR (TR )

2. 60991G
3.  \6QI@

4. 6Q1G6raq



143.

144.

The rate of Interest paid to recurring deposits when compared

to fixed deposits is always

l.

2
3.
4

More
Less
Equal
Too high

2IeQ1 @¢ll(recurring deposits) aIQ Q@R o QIR

(fixed deposits ) DI 6QREK! AOIQ

2@
=lel
(el
QU

‘Khudkhasth’ means

Eal

Self cultivated land by Zamindars
Tax paid by farmers

Tax paid by employees

Tax levied by Church

‘GRIY” @EEM

SAQIANNER F6R QI8 SRR @]
QIFIFIER IR0 QAR !

QIRARER IR0 KRR KR
0% 9AIRYS! KA



145.

146.

Expand NNP

1. Net National Productivity

2 Normal Nutrition Productivity
3. Net National Procedure
4

Normal Nutrition Process

NNP Q @90 Qd

1.  6R9 6090In JRQe6
2. QIR QITAR 9RRed
3. 609 629N 99eq

4. QIR QIGaq 962q

Affective domain is related to

1. Body

2. Consciousness

3. Heart

4. Brain

QRSP 6896 QAR A°YB
1. IR

2. SYAN

3. Q@Q&l

4. Q39



147. The curriculum should possess this characteristic feature

1. Rigidity

2. Elasticity

3. Limitedness
4. Unlimitedness

‘JIOYFE ' 6 IE ARGl QI G

1L 2[RI
2. QL1
3. dQie
4. A1

148. The highest percentage of learning takes place through this
sense organ of our body

l. Ear
2 Nose
3. Eye
4 Skin

IORIA JGEIe dFE If QIR 9@ RICRLD FIQ

Qg

L. Qe
2. QR
3. a9y

<

4. Q¢



149.

150.

‘A project is a unit of activity in which pupils are made
responsible for planning and purposing’. This definition is

given by

1. W.H. Kilpatrick
2. Ballard

3. J.A. Stevenson
4. Parkar

Q2 Q9Q! , 6195 KA IR FVIATNEFT AN LR
RARYS ANIRQ AT & gag QY — 1@
A RIGAIQ @26

1.  W.H @adige
2. QRIG
3. 1A €609
4. AQQ

Qualitative assessment tool among the following

l. Data Analysis
2 Survey

3. Biography
4

Rating scale

A FEINR KRR ARIS

1 Qe F6HIEl
2. Q69N

3. @lea1

4. 6QCG 64M



